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LE1ssi)N The meanlng Of ratlo and |tS prOpertleS J

Section 1 ‘ Complete each of the following.
a) The ratio between a number and another number = Zzzzzzzzzzzzz;
b) The ratio between the sidelengthofasquareand 1t s pery meter |
c) 5 : 25 = éé. . : €ééeé. (ign» tthe 4s1T mpl est
d p-D¢g-= éé&. .eéeeée
e) pDpg v= ééeée.. : eéeé.

f) The ratio between the perimeter of any equilateral triangle and its side

|l ength =é&é&ééeée.
g) The circumference of thecircle:i tts  di1 amet er | ength = é&=¢&éeé
h) The circumference of thecircle:i't s “rradi us | ength = ééeée
seCtlon 2 Put each ratio in its simplest form.
) 30:45= Drpft
éeece é
) 27:36=
eeéeé [
k) —\ =
éééeé é

D




) 6.4:1.6= Draft

eéée éeée
m)5.25: 7.375=

eéée eeéeeé
n) 5.5:0.22=

eéée éeée
0) -D-=

eéeéeé eeéeé




|Section 3 J Word problems

1)If Karim has L.E. 35 and his sister Marwa has L.E. 7®nd the
ratio between what karim has and what Marwa has.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A
A A A A A A A A A A A A A A AN A AN A A A A A A A A A AN A A AN
A A A A A A A A A A A A A A A A A A A A A A A A A AV A A A A

A A A A A A A A A A A A A A A A A A A A A A A A AN A A A A A

éééééeéeccececcpececececeeceeeceeccepeecpceececees
2)If Khaled has L.E. 15 and Ahmed has L.E. 25,
find the ratio between what Khaled has and what'/Ahmed has.

o A - Y Y Y Y N . S . . Y . S U . S . Y Y N . S D N .Y

A A A AN A A A AN NN A A A AN N AN A

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ AN AAN ~ ~ ~

eeeeeeceeceeeeeeeeeeeeLeeeeeeeeeeeeee

The money units: Units of cultivated
lands:

1 pound=10Qiastres

The weights unit: _
N 1 feddan = 24 kirats

1 ton =1000 kg /
1 kg = 1000 gm

1 kirats = 24 sahms

Time units:
1 year = 12 months
1 week = 7 days

1 days =24 hours

1hr = 60 minutes
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Follow: Properties of ratio J

Section 1 ‘ Choose the correct answer. )
a) The ratio between 12 kiratstop-f eddans = “e e éée

(12:15 or 4: Jordi30r3:1)
byl25 piastres : 5 pounds,= €éé&éé

(1:5o0r5:1o0ord24 or 4:1)
c)3 m. . 30 cm. FElpgé eredélo.orlééld®él:9)
d800 gm : 1.6 kg lZleaslelorl:eeéééno)

e) If the side length of a square is 4 cm. and the dimensions of a

rectangle are 2 and 8 cmj then the ratio between their areas =

()]

()}

eEe@& . éeeéeéé (1:40r2:10rl:10rl1:2)
SeCtIOH 2 Put each ratio in its simplest form.
a) 12 kirats : 1feddans Draft
€Eééé . ééeéeeé

b) 2.5 hours and 75 minutes

A A~ A A

eEééé €ééé
c) 75 kirats and 16 sahms
éééée . ééeéeeé

d) P.T.250 and L.Ex -

()]

Fa»}



e) 30 kirats : 2.25 feddans Draft

A A A A A

éEééeée . ééeeeé
f) P.T.500:L.E. 15

éEééeée : éé
g) 5 Kg:3000 gm

A A A A A A

eeee . € e

D
D

(¢
D

h) - hour : 36 minutes

A A A A A~

eEééeée €éée
) pET OOIGAAAUO
éééé . éeéeéeé
j) 75cmand 2.5 m.
€Eééé . eéeceeé
Section 3 Word problems

v

ﬂ The monthly salary of an emplayee is L.E. 450; he spends L.E. 400 and

saves the remainder.Find:
1- The ratiggef,hiS expenditure to his salary

2-4I'he ratio,of his savings to his expenditure.

8888888 &

3- His'savings = 5888888

of his salary.

A A AlA A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~
AdAn A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

éeécécééecccecceecececcecceceecececcecececececcceeccce
gééccééecccecceeececcecceceecececcececececececcceececce
cEttiééecctcceeecceeobeteeece ccceecececcceeee

A A A A A A A A A A A A A A A A A A AAAAAA A A A A A A A A A A A A A A A
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LESSON . e = =
1 3 Miscellaneous exercises on ratio and its J

SECtion 1 Complete each of the following. J

a) If the sum of two numbers is 105 and the ratio between them is

2 : 3,then the biggest i one i s

b)) fA:B=5:3,and AdB=8,t hen A"+ B € ééé.

c) In the simplest form, the ratio betweendhe perimeter of the
square and the perimeter of the triangle opposite
= ééé.. . égé

55cm

3cm 3cm

5cm

d) If Akram's'weight: Hassaris weight = 5: 8 and Akram% weight is

A A A A A

40kg,thenHassar%we i ght equals ééééeé
e)If the ratio between the weight of Hani and the weight of Ahmed
Is5:6 and the weight of Ahmed is 60 kilograms, then the weight

A A A A A A A A

of Hani = ¢ééééeececee




SGCﬁOﬂ 2 ‘ Word problems

1) A primary school has 540 pupils. If the ratio between the

2) A rectangular shaped piece afland thewratio between its

3), The ratio between the heights of two buildings in a town is

number of boys to the number of girls is 4:5, calculate the

number of each of boys and qirls.

A A A A A A A A A A A A A A A A A A A A A A A A AR A AN A A~

A A A A A A A A A A A A A A A A A A A A A A ALA A AA A A A A A

eeeeeeeeceeceeeeeeeeeceeceeeceeeeeeceeceeq

EEécééceécetccececcteceeppcerereceren

A A A A A A A A A A A A A A A A A A A AlA A A A A A A A A A~ A

eeeeceececegeE€eeeeceeeeceeeeceeeeeeceeed

length and its width is 9: 7. If the differénce between the
length and the width is 18 ‘meters, calculate each of the length,
the width and the perimeterof the land.

A A A A A A A A A A A~ A AN A A A A A A A A A A A A A A A A A~

A A A A A A A A A AN A A A A A A A A A A A A A A A A A A A A~ ~ 4
A A A A A A Al oA AL A A A A A A A A A A A A A A A A A A A A A A A
A A AlA ALA A A A A A A A A A A A A AAANAANNAANAANANAANAAN A A A AN

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

eeeeeeceececeeceeeeeeeceeeeeceeeeceeeeeeeceees

4.7. If the difference between their heights is 9 meters, find
the height of each of them.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ~ 4

A A A A A A A A A A A A A A A AR A A A A A A A A A A A A A A

A A A A A A A A A A AMAAMA A AN A A A A A A A A A A A A A A A A A~

A A A A A A A A A MM A A A A A A A A A A A A A A A A A A A A A A~A

ceeeeeececeee@eeeececeeeceeeeceeeeeececees
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4) Two wire pieces, the ratio between their lengths is 5 : 9 if the

5) A perimeter of rectangle equals 70 cm. and the ratio between

6) The ratio between the length and the width of a rectangle is

sum of their lengths is 126 m.
calculate the length of each piece.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A 4

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A

A A A A A A A A A A A A A A A A A A AAAAAAANADMA NN AL A A A A

A A A A A A A AAAAAA A A A A A A A A A A A A ALA A AA A A A A A

A A A A A A A A A A A A A A A A A A AN A AlA A ALA A A A A A A A

eceeeeeeceeeeceeeeeceeceeeeeeeeeeeececeg

its dimensions is 3 : 2.Calculate its area.

A A A A A A A A A A A A Al A A A A A A A A A A A A

D
o
D
D
D
D
D
D
D
D
D
D
D
9»)
D
D
(D
D
D
D
D
D
D
D
D
D
D
D
()
D
D
D

A A A A A A A A A A A A A A A A AN A A A A A A A A A A A A A A

A A A A A A A A A P~ A A A A A A A A A A A A A A A A A A

A A A A A A A A AMNA A A A A A A A A A A A A A A A A A A A o 4

D

9. 5alf the perimeter of the rectangle is 56 meters, find out the
length and'the width of the rectangle.
Calculate its area.

AL A A A A A A A A A A A A A A A A A AAAAANAANAAAANAANAAAN A A A AN

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ ~ 4

A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ~ 4

eceeeeeeceeeeceeeeceeeeceeceeeeeceeeeeeeceeceg

EEEéEéeeceeceeccecceeceeececeececeeeeceeceeeceen
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The ratio among three numbers J

Complete each of the following.

\Section 1 \

a) 40:50:6 0 =-é&& :ééé ( In its “simpbhest 1
b) 24:1.2.3. 6 & :é666 € € é

AnA

c) 3m:200cm:1 0 dm é=¢& ééé&é é é

d Ifacb=3:5andb:c=5:7,thenaic = "€ € é € éé
e)lfaab=2:3andb:c = 6 : 7, then a : b : ¢
ff -D-D-= 6 : é&éé » éésé

g ~-D-D—= eeée : ep86 Leee

Section 2 ekl

1) A family consists ofthree persons. If thefather is 1.8 meter tall,
the motheris 1.6 meter tall and the son is 1.2meter tall,
calculate the ratio among the three tall .

A A AlA A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ~ 4

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ ~ 4

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A AAAAAAAA A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ~ 4

eceeeeeeceeeeceeeeceeeceeceeeeeceeeceeeeeceeceg

10

7




2)

3)

4)

ABC is atriangle in which AB : BCCA =3:5:7. If the difference
between the length of AB and BC is 4 cm,
find the lengths of the sides of the triangle and its perimeter.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ~ 4
A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A

A A A A A A A A A A A A A A A A A A A A A A M ADAA A A A

A A A A A A A A A A AAAA A AN A A A A AN A A A A A A A A A A A

eeeeceeceeceeceEeeEeceeeeceeeeeeeeceeeeceece

If the ratio among the share of Hani and the share of Sherif and
the share of khaled is 3 : 5 : 7 andif the share ofdHani is L.E. 24,
calculate the share of each of Sherifland Khaled.

A A A A A A A A A A A A A A A A A A A A~ A A A A A A A A A A A~ ~ 4

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ ~ 4
A A A A A A aAldA A A A AA A A A A A A A A~ A A A A A A A A A A~ 4
A A A A Al A A A A A A A A A A A A A A A A A A A A A A A A A A 4

A A A A AlA A A Al A AmAAAAAANA A A A A A A A A A A A A A A A A A A AN

ceeeecegeeeceeeaeeceeeceeeeececeeeeceeeeceeeeeceecec

A,B.C.are three numbers wherethe ratio A : B =4 : 3 and the
ratio B *C = 2: 3.Find the ratio among the three numbers A,B
and C:

A AL A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ ~ 4

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ ~ 4

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A 4

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ 4

A A A A A A A A A A AAAA AN A A A A A A A A A A A A A A A A A A AN

ceeeceeecececeegEecax®@®eeececeeeceeeeceeeeeeecece
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5) If the ratio between the measures of the angles of the triangle is

6) The number of workers in a factory is 560 workers@and the

7) A sum of L.E. 660,was divided among Kamal , Amed and

1: 2: 3,find the measures of each angle of that triangle.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ ~ H4

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A Al A H4

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ANAlH

A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A Adn oAlA A A AL A A A A

eceeeeeeceeeeceeceeeeceeeececeeeeeececeececcece¢d

number of women - the number of men. Find the number of

each of men and women.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ ~ 4

A A A A A A A A A A A A A A A A A Al A A A A A A A A A A A A A~ ~ 4

A A A A A A A A A A A A

c@R@@e@exee cecceecececeeceececeeecececeecece

D
()}
D
D
()}
D
()}
D

Mohamed .If Ahmed's share was - of Kamal's share and

Mohamed's share was- of Ahmed's share.Find the share of each

A A A A A AA A A A A A A A A A A A A A A A A A A A A A A A A 4

AW A A A A A A A AAAAAAAANA A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ ~ 4

A An AN A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A AN A A A A A A A A A A A A A A A A~ ~ 4

D D
92 92
() ()
() ()
SB D
8 D
o (92
o D
o D
o (92
o D
o ()
o (¢
o (92
o (g2
o D
o ()
o D
o ()
o (92
o D
o ()
o (g2
o D
o D
o (¢
o D
o (¢
o ()
o )
o D
o ()
o (¢
fan)

D>
D
(9»)
(9»)
D
(9»)
D
D
(9»)
D
(9»)
(9»)
D
D
D>
8>
EB)
6B
FB>
B3
D
(9»)
(9»)
D
(9»)
D
(9»)
(9»)
D
(9»)
D
(9»)
D
D

) (4

@D

) @D

)

(U’




8) An amount of money was distributed among Tarek , Sayed and
Sabah inthe ratio 2 : 5: 3. If the Sayd's share is L.E. 45 more
than Tarek's share find the total amount of the money.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A 4
A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A
A A A A A A A A A A A A A A A A A A A A A A M ADAA A A A

A A A A A A A A A A AN A A A A A A A A A A A A AA A A A A A A A

ceeeeceececeeeeEeeeceeeeeceeeeceeeceeececees

9) A triangular piece of land the ratio between the lengths, of
its sides is 4 : 6 : 7If the perimeter of this pieceyof land is 68
meters, find the lengths of the side of this piece of land.

A A A A A A A A A A A A A A A Al A A A AlA A A A A A A A A A A A~

A A A A A A A A A A A A A A A A A A A~ A A A A A A A A A A A A~

A A A A A A A AdnAaa Al A AN A A A A A A A A A A A A A

A A A A A A A A A A A AN~ AN AN A A A A A A A A A A A A A A A A

eeeeceeceeceegeeEEEEeeceeeceeeeeeeeeeeeece

91 f Amrdos {weightndAHam®mdiso svewgihg hi s 4

Hamdi 6sd wel ght exceedsfinddimmweights wei ¢

of each one of thém.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A AlATA A A A A A A A A A A A A A A A A A A A A A A A A A A A
A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~
A AL A A AR A A A A AAAAAA A A A A A A A A A A A A A A A A A~ A~

A A A A A A AA A A A A A

10) Ifa= -bandb= - c,finda:b:c

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A R®”A »®”A A A A AN

14
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12) Ifx=-y,y=-2z,findx:z

A A A A A A A A A A A A A A A A A A A A A A A AlA A A AA A A A~ 4

A A A A A A A A A AAAAAAAA A A A A A A A A A A A A A AA A A A

€& EEEeéébcctbbbeeececceececececepbeecececeee
15 Ifa=-b,b=-,finda:b:c

EEEééeéecececececececteeceececceeeececeee ec e

EEééeééébcbcthbhececeececeeceececeeeceecececececceece
16)Ifx:y=3:4,andy:z=3:2 findX'y:z

A A A A A A A A A A A A A AlAaaAlA A AMNMA A A A A A A A A A A A A~ ~ 4

A A A A A A A AAAAAAAA A A A A A A A A A A A A A A A A A A

EEEEEeeééébcbcbbtbececeeceeceecececeececeececececeecee
17)If-=-,and-=-,findb:¢

A A A A A A A A A A pATmA A AMA A A A A A A A A A A A A A A A A A~ ~ 4

A A A A A A AlAaAAAAAAAN A A A A A A A A A A A A A A A A A A

EEEEEeéécbeebteeeeceeceeceeceeceececeececececececeecee
18) Ifx=-y,andy ==z find x :y :7

A A A A A A A A A A DA A AVA A A A A A A A A A A A A A A A A A A~ ~ 4

A A A AlA A A A A AAAAAAAAN A A A A A A A A A A A A A A A A A A A A

EEéEééeel cccebbéobee e cceecececeeceececeeececeece
19)Ifa=2b,bh=3c,finda:b:c

AL AL A A A A A A A AAAAAAAAN A A A A A A A A A A A A A A A A A A A A

geeeeceeecececeeceee eeeeceeeeceeeceeceeeeeceecece
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Applications on ratio (Rate) J

SeCtion 1 Complete each of the following. J

a) An agricultural tractor ploughs 6 feddans in 3 hours, then the
rate of performance,  of tractor =
byéééeé. . I's the ratio._between two ¢(
c) Machine produces 81 meters of cloth in 3 hours , then the
production radefl of this machine p
d) A factory produces 8000 juice cans ind hours, then the
productions rate = ééé

e) A worker paints a wall'df.area100 nt. at 8 hours , then the

rate of wé/hk = €& m

Section 2 ‘ ~ Word problems

1) A car covered 150 km. in 3hours.

calculate the speed of this car.

ééééééééééééééééééééééééééééééééééééI

ECcéEeéeel@ cecececcecececceceececeecceceeececeeees
2) A plough of agricultural land ploughs 6 feddans within 3 hours.

FHnd the rate of work of this plough. If another plough ploughs
10 feddans within 4 hours, which of them is better than an other?

A A A A A A A A A A A A A A A A A A AN A A A A A A A A A A A A A A~

A A A A A A A A A A A A A A A A A A AAANAANAANANAANAANAAN A A A A A AN

A oA A A A A A A A A A A A ALK, A A A~ A~ A A A A A A A A A A A A A A A

eeeeeeceeceeceeceeceeeeececeeeceeeceeeeeeceece
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3) A machine produces 500 m. of textile in two hours.
Find the average production of the machine.

A A A A A A A AAAAAA A A A A A A A A A A A A A A A A A A A A A A~

EEEEECEeEaE ecceecececeeeceeceececeeeceeececeecee

A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A A A Al A .

EEEEEEEEEEececceeececeececeeececeeeceeceeeeceepeepec

A A A A A A AAAAAA A A A A A A A A A A A A A A A A A Al A A

EEEEEEEEeEEarceeeeceeeeceeeceececeecececececer
4) A car consumes 20 litresof petrol for covering 200 km.

D

Hnd the rate of consumption.

A A A A A A A A A A A A A A A A A A A A A A A Al A A A A A A A A A

é ¢
Eé@cécécéceececececececeeceeeceepececegeq
é

A A A A A A A AAAAAA A A A A A A A A A A A A A ALA A A A A A A A A

eeeeceeceexcxEaeceeeeceeeceeeceeceecgeeEeeeeeeeeeceg

5) How many triangles are there in the opposite figure?

eeeeceeceecxgELgeeeeceeceeeeceeeceeeeeeeeeeeece
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1) Complete each of the following
a) The ratio is

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

eeeeeeeeceeeeceeceeeeeceeeeeeeeeeeceee

b) The rate is

A A A A A A A A A A A A A A A A A A A A A A A A A Al A A A A A

Eééééeécecececeececeeceececeptreecce
c)Ifa:b=3:5andb:c=2:3,t hen a : € = "€¢Ee¢
d300 gm : 1.5 kg. = éeée . eée

e) The ratio between the side length of a square and'its perimeter

2) Choose the correct answer
a) The ratio between what Yasmene and Magda has is 3 :5 If

Magda has L.E.40thenYasmee has éL. E. éé

(9 or 15 or 24 or 30)
b) The aat i .0 6 : 18 in its simplest

(— or - or -or -)
c) Ifacarncovers 171 km. in - hours, then the average speed of

thi s car = éééégeékan76 orl8® ari9)

d) Theratio between circumference of a circle and its diameter

A A A A A

| ength = ééééé

(2e:10r e:1 or e:20r 1:206)

(2:3 0or1:2 or1:3 or 2:7)
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(3) (a) If the ratio between Omar's money: Ziad's money : Nour's
money is 6 : 5 : 2 ,and the difference between Omar's money
and Nour's money is L.E. 200find the money with each one of
them.

(b) The perimeter of a rectangle is 360 cm. and the ratio
between its dimensions is 3: 2 Find its area.

(4) (a) A piece of wire 30 cm. long is divided into two parts at the
ratio of 2 : 3. The smaller part was shapéd-as'a square‘and
the bigger part was shaped as an equilateraktriangle.

Find the side length of each.

(b) A man divided L.E. 240 anong his three sons in the ratio
3 :2:1.Find the share of each one.

(5) (a) A machine ploughs 6 feddans in 3 hours. And the rate of
performance of this maehine. Ifyanother machine ploughs 6 kirats in 10
minutes, which of the two machines is better?

(b) Arsehool has 500 pupils; one day 50 pupils were alsent.

Findthe ratio between absent to present.

18




Unit Two

LESSON The meaning of proportion and its properties

Ll

Section 1 Complete each of the following.
ayééééé is an equality of two or mor
b)—zg
c) The product of (means = the product
d) If the numbers 7 8 | X 4 24 are proporti
e)If == 3 , tThen x = eeéé

Section 2 Choose the correct answer
a)lf—= =" then x(3»or Z2@&&5 or 6)

b) 119, x ,24 and 32 are proportional quantities, then

A A

Xl =€ € &6 (12 or 15 or 3 or6)
0

C)If —=-, then 3er 18@&8o0rl2)

d The first proportional of éé, 10
(4 or 5 0or 8 0or9)
e) Intheoppositef i gur e, the number of trapse¢

(3ordor5or6) \ /
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Section 3 J Word problems

1)

2)

3)

4) Theheight of a minaret is 85 meters and the length of its shadow

A car consumes 20 litres of fuelto cover a distance of 180 km.
How many litres are needed to cover a distance of 540 km?

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ALA D dn

A A A A A A A A A A A A A A A A A A A A A A A A A A A AlAA A A A A
A A A A A A A A A A A A A A A A A A A A A A A A A A A AAMNA A A A
A A A A A A A A A A A A A A A A A A A A A A A A A IAnA A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A AA A A A AYA A A A~

eeeeeeceeceeeececeeeceeceeceeceeceeeeceeEeeeees

If a worker can paint 21m? in 3.5 hours, thefi how many.$guare
metres the same worker paints in 4.5 hours?

A A A A A A A A A A A A A A A A A A A A A AA A A A A A A A A A A~

A A A A A A A A A A A A A A A A AR A A Al A A A A A A AAA A A A ~ A
A A A A A A A A A A A AdnrnnA A o AammA A A A A A A A A A A A A A A
A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

A A A A A A A A A AnfAn A A A A A A A A A A A A A A A A A A A A

EEEEEEEecceccekcleeececececeececeeeeceeeeeecce

A tractor plughs 15 feddans. in 5'hours.
How many feddansdoges the same tractor plough in 4 hours?

A A A A A A A A.A A Al A A A A A A A A A A A A A A A A A A A A A~
A Al A A A AA A A A A A A A A A A A A A A A A A A A
A A A A A A A A N A A A A A A A A A A A A A A A A A A A A A A A~

A A A A AN A A A A A A A A A A A A A A A A A A A A A A A A A

A A A ALA AR mA A A A A A A A A A A A A A A A A A SN A A A

ceeeceeegeeeeececeeeececeeeececeeeeceeceeceeeceee

in @ moment is 34 m. What is the height of a tree in front of this
minaret if th e length of its shadow is 17m at the same moment?

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA

A A A A A AAAA A A A A A A A A A A A A A A A A A A A A A A A A n ~ A

ceeeecececeeeceeeeceeeceeceeeeeceeeeeeeeeceedd
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5)

6)

7)

8)

Hassan bought 7 kg. of apples , he paid 21 pounds.How much
money does he pay to buy 10 kg?

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ALAl

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A alA

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A AN A A A A A

A A A A A A A AAAAAA A A A A A A A A A A A A A A A A A A A A~ A~

ceeececeeecexceceeeceeeeceeeeceeeeceeeeececeeg¢.

Find x in each of the following proportions

A A A A A A A A A A A A A A A A A A A A A A lAnA A AlA A A A A A A A
A A A A A A A A A A A A A A A A A A AlA A A A A A A A A A A A A A A
A A A A A AR A A A A A A A A A A A A A A A A A A A A A A A A A~

A A A A oA A A A A A A A A M A A ATA A A A A AN A A AN A A A

EEéEEccéeececeecceceeecepeecceecececemeemece

A A A A A A A A A A AA A ATA AVNA A A A A A A A A A A A A A A A A~

A A A A A A A A A A A A A AMNA AN A A A A A A A A A A A A A A A A A~

Eéééeecgepeececcececcceececccececrmmpeeccece
Find the missed namber (X)for the following numbers to be
proportional 6, 85, 3 , X

A A A A A A A A A A AMAAMAAMA AN A A A A A A A A A A A A A A A A A~~~ ~ 4

A Al A A AVA A A A A A A A A A A A A A A A A A A A A A A A A A~
A A ALWA A A oM A A A A A A A A A A A A A A A A A A A A A A A A A

A AL A A A A A AAAAAA A A A A A A A A A A A A A A A A AP rmnoA A A A

EEEEEEEEEEEEeeeeeceecececececeecececececererpeeeees
Alr'bought 5 kg of orange, he paid LE 15 . How much money
does he pay to buy 8 kg?

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~
A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

eeeeeeececeeeceeeeceeeeceeeeceeeeeeeeceeceec
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9) A carconsumes 20 litre of petrol for covering 210 km. How
many litre of petrol does the car consume to cover 630 km.?

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ ~ ~

A A A A A A A A A A A A A AN A A A A A A A A A A A A A A A A
A A A A A A A A A A A A A A A A A A A A A A A A A A A A AN A A

A A A A A A A A A A MMM A AN A A A A A A A A A A A A AN AN AN

eceeceececeececeeexEeEecececeeceeeeceeeceeceecee

10) The ratio between Hany& weight to the weight of his
father is3:5.WhatisHa ny 6 s ifwhe weight bf his
father is 90kg?

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ ~ ~ ~ ~ ~ ~ ~ ~

A A A A A AmA A A AN A A A AN A A AA A A A A A A A AN
A A A A A A A A A A A A AA A A A A A A A A A A A~ A

A A A A A M A A AN A A A A A AdA A A A A A A A A AN

Eéééécecceccercecrrmeceeceeceepececeeceeeeecce

11) A primary school building & height iIs/14 metre and the
shade of this buildingatafcertain moment is 5m length.
What is the height of a tree at theesame moment if its
shade Ienqth Is 3 metres?

~ ~ ~ ~ A ~ ~ ~ ~ ~ ~ ~ A ~ ~ ~ A ~ ~ ~ ~ ~ ~ ~ ~ ~ P

A A A A A A A ANIBA A A A A A A A A A A A A A A A A A A A A A A~ A
A A A A A A A Al A A A ALA A AN A AN A A A A A A A A A A A AN

A A A A A A A A A A A AN A AN A A A A A A A A A A A A A

ceeegececeeeceeeeeececeeeeeeeeeeeeecece

12) Afdpiece ofbuilding land is distributed between two brothers in
the ratio 7: 5. If the share of the first one exceeds the share of the
secondby 80 squaremeters, find the area of the land and the
share of each of the first and the second.

~ ~ ~ ~ ~ ~ ~ ~ ~ A A ~ ~ A ~ ~ ~ ~ A ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ A ~

A A A A A A A A A A AMAAMA A AN A A A A A A A A A A A A A A A A AN

D
D
D
D
(9]
D
(9]
D
(9]
(9]
(9]
(9]
D
®
%
3
8)
i
D
D
D
(9]
(9]
(9]
D
(
®
D
(9]

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A
A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A
A A A A A A A A A A A A A A A A A A AN A A A A A A A A A A A A A A~

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

eeeeeeececeeececeeeeceeeeceeeeceeeeceeeececeec
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13) The number of pupils of a primary school in the 1%, the 2"

14)

15)

and the 3™ grades is 240 pupils. If the ratio among the
three gradesis 5: 4 : 3, calculate the number of pupils in
each grade.

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ ~

A A A A A A A A A A AmAAMmAAMAANA A A A A A A A A A A A AlA A A AA
A A A A A A A A A A A A A A A A A A A A A A A A A AlA A NN A A

~ ~ ~ ~ AN AN ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ A ~ ~ ~ ~ ~ ~

Eéééébeeeecececeeeceececeeeeceeceeceecceces
A father distributes LE 225 among his three sons.»The share

of the first was third of the sum and thegatio between,the

share of the second and the share of the third was 2:3.Find

the share of each of them.

€ € 6Egbeeeeec € e €6 e e e e e eeceecee

A A A A A A A A A A M AMmAAMAAN A ATA A A A A A A A A A A A A AN

D
D
D
D
Q)

Q)

D
D
D
D

~ ~ ~ ~ ~ A~ A ~ ~ ~ ~ ~ A ~ ~ ~ A ~ ~ ~ ~ ~ ~ ~ ~ ~ P

A A A A A A A A A A AmAAA A AN AN A A A A A A A A A A A A A AN

eeeceececeececxceerceecececeeeceeceeeeceeeeeccce
For solving the illiteracy problems at a village, 3 classes hadbeen
opened. The number of\learners was 92persons. The number of

the learner in the 4* class =- the number of the learners in the

2" class@nd the number of the learners in the 2" class. = - the

number.of the learners in the 3 class.Find the number of the

learnersin.each class.

~ ~ A ~ ~ ~ ~ ~ ~ A A ~ ~ A A ~ ~ A A ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ A ~

AL A A A A A A A A A A AP AN A AN A A A A A A A A A A A A A AN

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ e

A A A A A A A A A A MM AMA AN A A A A A A A A A A A A A A A AN

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

eeeeeeeceeeececeeeeceeeececeeeeeceeeeeceeeecece
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16) In one of our schools, there are 560 students. f the number

of girls = - the number of bo ys, find each of the number of

the boys and the qirls.

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ A~ e
~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ ~ ~
~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ ~ ~ A ~ ~ ~ ~ A~ ~ ~ ~ ~ ~

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A ~ ~ ~ ~ ~ ~ ~ e

EEEEEEEEEeceecececececeeceececeecepceaececeeeecc
17) A fruit seller sells one kilogram of apple for L.E‘10
If the ratio between the price of apple sto theprice of

bananasis 5 : 2,find the pricesof 5 Kilograms of banana.

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ e

~ ~ ~ ~ ~ A ~ ~ A ~ A ~ A ~ ~ ~ A ~ ~ ~ ~ ~ ~ ~ ~ ~ P

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A~ ~ e

ceeeeeceecEeLeeeeececeeceeeeeeeeeeeeeeeee-d
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22 Drawing scale J

Section 1 Complete each of the following.

a) If the drawing length of an object is 2 cm and its realflengthhequals

20 meters, then thegdrawiing scal e
b) If the drawing scale is 1 : 200 and the length:on drawing is 2.5

cm., thenthereallength=€ é & &€ amet rve’s
c) If the real length of an insect equals 3'mm. it was photographed

by scale 100: 1. The lengthhin the picture = é é écm

d) If the length of a picture of an insect'is 4 cm. and its real length is

-cm.The dr awi ng 'scale i s ééeéee
&) Drawin scale S888888888888888888
9 88883888888888888

Word problems

\Section 2

v

(1) “If the distance of two cities on a map is 10 cm. and the real
distance between them is 120 km, find the drawing scale of the

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
A A A A A A A A A sssA A A A A AAAAAA A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

eceeeeeeeceeeeceeeeceeeceeeeceeeeeeeeecece
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()

3)

(4)

()

(6)

An engineering design for a villa is made. If the height of the
fence of the villa in the design is 5 cmand its real height is 3 m.,
find the drawing scale.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A AlA A A
A A A A A A A A A A A A A A A A A A A A A A A A A A AT A AA A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

EEEEEEEeecectccecceeccpeeceeceeeceecceccecceecs
Adel took a magnified picture with a camera. If thedength of an

insect in the picture is 10 cm and its real length is 2,mm, find

the drawinq scale.

()}
D
()}
()
(9»)
D
(9»)
(9»)
D
(9»)
D
D
(9»)
(9»)
(9»)
D
D
(9»)
(9»)
D!
(9»)
D
(9]
(9]
(9»)
(9»)
D
(9»)
D
(9»)
(9»)
D
(9»)

A A A A A A A A A A A A A AA AR A s ™A A A A A A A A A A A

EEEEEEEecccccecacecppeepcececeeeeecece
On a map with a drawing scale 1: 100 000, the length of a driver
s 15 cm.Calculate it #8al length.in kilometers.

A A A A A A A A A A A A A AMA A A A A A A A A A A A A A A A A A~

A A A A A A A Al AL A A A A A A A A A A A A A A A A A A A A A A~

EEéEeeegceceeccccppepcpepeepceeeeee
If the drawing scale of amap is 1 : 1000 and the length of a
road equalsiSkm., what is the length of this road in the map?

A AdA A A AlA A A A A A A A A A A A A A A A A A A A A A A A A A~

€ eeceecececececceececeeceeeceeceecceeeceeceece
Eéceéceeececececceeeececececeeceeeeeceeeceececce
EEceecececeeeceeececeeececeeeeceeceeeeeeecce
EEEEéeceececeececeeececeeececeeeceeceeeceeeeeceeecce
Atlas of a number of cities drawn at a scale of 1 : 100 000. If the

real distance between two cities is 36 km., find the drawing

distance between them in the atlas.
EEEEEEEEeecececcceeeeceeccecececeeececeeeeececce

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AN A A~

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

ceeeeeeeeceeeeceeeeceeeceeeeceeeeeeeeecece
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(7) A photo was taken for one of the every delicate insect by
enlargement ratio 100 : 1. If the actual length of the insect
length is 0.8 mm., find the length of the insect in the picture.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AdA A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A Al A A
A A A A A A A A A A A A A A A A A &~ A A™ A A A A A A Al A A A A

A A A A A A A A A A A A A A SRA RA~” RN RSN~ A AAAAAA A A A A A

EEéééééécceeccceeceecceeececeece
(8) The real distance between two towns is 160 km¢and the
distance between them on a map is 6 cm.
Find the real distance between other two towns if the distance

between them is 4.5 cm. on the same map.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

Alaa ln Al A A A A A A A A A A A A2 A A A A A A A A A A A A A A A A A
A AN A A AllA A A A A A A A A.A A A A A A A A A A A A A A A A A A~

AVA A A AR A A A A A A A A A AR & &A™ A A A A A A A A A

eeeeeegeeeeceeeceeceeceeeeeeeeeeeeecece

(9) Three maps of EXFayoum city are drawn
such that,theiryscales are 1 : 50 000 ,
1:40 000 and1 : 20 000 respectively. If the
distance between two villages on the third
map is 8'cmy,find the distance between the

same two villages on eachof the other two
maps.

AlA A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A
n A A A A A A A A A A A A A A A A A2 A A A A A A A A A A A A A A
A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A AR ™A A A A A A A A A A A A A A A A A A A A A A A A~

cgeeececegeeeeeeceeeceeceeececeeeeeeeeeeecee

If drawing scale is 1 then it called
E nlargement

If drawing scale is 1 then it calledV/inimization

D> D>



LESSON

Eéééecécéecececececeececee
Eéééeécececececeececececece ééééeéeéeecee
(2) The number of pupils in a primary school inthe 1%, t and the 3™

grades is 360 pupils. If the ratio among the th sonsis4:2:3

Calculate the number of pupils in each gr

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

eeeeeeeeeeeeeecee eeeeeeeeeeeeeeecce

and bananas intheratio 9 :7:3
and bananas is equal to 50,

(3) A basket contains appl
respectively. If the nu
find the number of ea

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

EEEEEEéeecececeecececeeeceeeeeeee

A A A A A A A A A A A A A A A A A A A A A A A A A A

eceeeeeeeececeeeceeeeeeeeceeece

A A A A A A A

A A A A A A A

éééeée Eééécececcammaepcececcecrmmmecce
4 hare profitsin the ratio 7 : 2,
. 405 more than Ehab.
Find each one
é EEééééececeeccececeeecececeeceeeceeceeeece

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

EEéEéééceececeeceececececeeceecececeeeceececeeecece
EEEééteceectcceeccecpececepeecpbteeececebeceeececcee
mr, Omar and Ayman started a commercial. Amr paid L.E.10 000Omar

paid L.E. 8000 and Aymarpaid L.E.13 000. Athe end of the year, the share of

Omar of profit was L.E.1 600.

Find the share of Amr and Ayman.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A mos s s s s s s SN e

ceeeeececeeececeeececeeeeeceeececeeceeececeeceeeeceeee
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(6) Three persons participated in a commercial, the T paid L.E.60 00Qthe
2" paid L.E.25 000and the 3"paid L.E. 20 000At the end of the year, the
profit was L.E.5520.

Calculate the share of each one.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AlA A A
A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ATARBA A A A

A A A A A o oA A A A A A A A A A A A A A A A A A A A A A A A A A A ALA A A A

Eéééc@eceeeccceeececceceeceeceececeeeecceceececeece
(7) Three persons participated in a commercial, the I paid

L.E.60 00Qthe 2" paid L.E.80000 and the 3" paid

L.E.90 000 . At the end of the yearthe profit was L.E.20700.

Calculate the share of each one.

A A A A A A A A A A A A A A A A A A A A A A A AlfA A A A A Al A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A AlA A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A ALA A A A A A A A A A A A A A A

EEEEEEEEEEeecececceeeeecececeeeececeececececeeceeececce
EEEEEEEECEcCbeeceE ettt ebqec b cecbobbececee e
(8) Hoda , Mona and Thanaa partiapateg,in a project . Hoda paid L.E. 1500,

Mona paid L.E. 2000 Thanaa paid L.E. 2500. At'the end of the yearthe loss of

the project was L.E.1200.

Find the share of each of them froamoss.

A A A A A A A A A A A A A A A AA A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A ANMA A ALA A A A A A A A A A A A A A A A A A A A
A A A A A A A A A A A A BN AVNA A A A A A A A A A A A A A A A A A A A A A A A A~

A A A A A A A A A A A A AVA A A A A A A A AAAAAA A A A A A A A A A A AA A A

ceceeeeececeeecepceeceeeceeceaxcxczreeeceeceeceeeeeeeee
(9) A man died and left a piece of land for building, its area is
17 kirats. We reeemmended for building an orphan on area
equalséSkirats. The remainder is distributed between his
Son and his daughter in the ratio 2:1.
Calculate the share of each of them from the land.

A A AL A A A A A A A A A A A A A A A A A A A A A A A A A A A A

AdA A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

EEEéeééééeéeeececececcecececececececececeeeceeecececce
(10) Three persons participated in acommercial, the 1% paid L.E.6 000,

the 2" paid L.E.4 800 and the & paid L.E.7 200. At the end of the year

the profit of the 1 ** was L.E.240 more than the share of the 2.
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Calculate the share of each one.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ n

E e e rrrecee
(11) A man distributed L.E. 6300 between his three sonslif the share/f

the first was the third of the money and the ratio between the second
and the third is 3 : 2, calculate the share of each of them.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AA A A A A~

)

A A A A A A A A A A A A A A A A A A A A A A A A Al A AA A A A A A A A
A A A A A A A A A A A A A A A A A A A A A A AA AlA A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A~ B B~ S~ A A A A A A

EEEEEeeeceeecececeeeeeeeceeceeecceceecemee
(12) A man died leaving 24 feddans to be distributedd@mong his wife,

his son and his daughter. The share of the wifesis— of the whole land and

the share of the son is twice that of the daughter.
Find the share of the wife, the Son.and the daughter.

A A A A A A A A A A A A A A AL A A AA A A A A A A A A A A A A A A A A A

A A A A A A A A A A A AN A A AN AR A A A A A A A A A A A A A A A A A A~

A A A A A A A A A A A ALA N AN A A A A A A A A A A A A A A A ArMmoA A A A

eeeeeeeeeeceeceegeeeeceeeeeeeeeeeeeeeece

(13) A load of apple weighs 280)kg. is distributed among three
merchants. Theghare ofithe ' = - the share of the 2", and the share
of the 2™ =_~ the share of the 3".

Caleulate the share of each of them.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A AlA A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A~

ceeeceeeeeceeeeceeeeceeeeceeeceeeeeceeeeeecec

Eééeécekr ececcecececerrcrretececrerece

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

cegeeeeceeeeeceeeeeceeeececeeeeeceeeeceeeeececeece

(14) For solving illiteracy problem at a village 3 classes hadbeen
opened, the number of learners was 92 persons If the number of the

learners in the 1st class =— the number of the learners in the 2" class
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and the number of the learners in the 2" class =- the number of the

learners in the 3™ class.
Find the number of the learners in each class.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A _n

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A Al A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

€ééeéééceecceeceececeecceeceeceeececeepeecese
€ééeéécéceccecceecceececeecceececeecceceegrmee

eééécécecceecceceececeecceceecceecceececpeeencece
€ééééécececeeceeceeecceeceecceeeepcceece

(15) There are 980 passengers in a train. If the number of passengers in
the first class is— of the number of passengers in the second class and

the number of passengersin the second class is - of the'number of

passengers in thethird class,
find the number of passengers in each classe

A A A A A A A A A A A A A A A A A A AlA A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A AN A A AA A A A A A A A A A A A A A A A~

€éééceécéceeceeccecepcreepeceeececeecececececeeceececeece
ée@&ceccecececcececeeceetcccerceccreccecrcce

A A A A A A A A A A A A dn A A A A A A A A A A A A A A A A A A A A A A A

EEEEEEEEecctbeceececceceeceeeceeeceeceecececececce
(16) A man died leaving 192 feddans to be distributed among h is wife,

2 sons and 3 daughters. f the'share of the wife is - of the whole land

and the share oftthe sonyis double of the daughter,
find the share of themwife, the son and the daughter.

A A A ~Ama A A A A A A A A A A A A A A

A A A A A A A A A A A A

A A lA A A A A A A A A A A A A A A A A

A A A A A A AN A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A~

AL A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

D
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D
D
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Q)
D
®
D
D
D
D
®
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D
D
®
D
®
Q)
D
D
D
D
Q)
D
D
D
D
Q)
D
®
Q)
D
D
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LESSON

2 4 Percentage and its applications J

Sectlon 1 ‘ Complete each of the following. ]

a) 0. 625 = ééééeéew

b) 1-( 35% + 47% )=€ééééewn

c) 20% of the number 10 4is €ééeéee

d 1625% = ééééé

e) Percentage i s éééée

 1.5% of 3 km. =é&ééééém.

glf 25% of a numbew i s 60 , then the
h)y 37-% = ééééé

1) The price of an electric mixer is IME200, if the discount is 10% of its
original price,t hen i ts_ priece after discount
) - -= ééééeéw

Ky p ombtnhb é€géée

A A A A A

A A A A A

mpoubkf 500 Kg- = éééeéeé kag.

n mMu —= (€6 8 eEe@%

0) The price of anelectric mixer is L.E.200, if the discount is 15% of its
pricef, ot hhen its price after the disc
p)Af (35% of a number is 140, then thi

A A A A A

qQ —=n,8eéeeée %
r) There are 50 students in a class, if 5 of them were absent, then the

percemtageof t he attendance Is é€€éééé %
s).—= ééééé %
) - ééééé = 100%
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Word problems

\Section 2

"4

1) In a school trip, 12 pupils from 35 pupils in a class have participated.
Find the percentage of participants.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR ALA A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A lnA A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A aAlTTA A AR A A~

EEéééééeéécéceecececcececececeecececeeecepepenpceecce
2) Sara deposited L.E.9000 in a bank the percentage of interest 1S'11%
per year. What is the amount of this sum after one year?

AA A A A A A A A A A A A A A A A A A A A A A~ AlAa A A A A A A A A A ~ A

A A A A A A A A A A A A A A A A A A A A A A A A AA AA A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A MM A A A A

EEEEEEEececccececebctbcecececececceceeceececeececeemeecce
3) Mostafa deposited L.E. 3000 in a bank with an annual interest of
11 %.Find the total amount after one year,

A A A A A A A A A A A A A A A A AlAaLAA A AMA A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

A A A A A A A A A A A A A A AMA A A A A A A A A A A A A A A A A A A A A

EEEEEEEeececcececeececeeceeeceeceeceececeececececeeceees
4) In one of commercial shops the percentage of the discount on sails is

20 % if Ahmed bought a trouser the price written on it w as L.E. 80.

Find what Ahmed paid after the diScount.

A A A A A A A A A AdA A A A A A A A A A A A A A A A A A A A A A A A A A~

A A A A A A A A A A Al A A AlA A A A A A A A A A A A A A A A A A A A A A

A A A A A A AN A A A A A A AA A A A A A A A A A A A A A A A A A A A~

EEEEEEEéecceecceccecceceeceeeeeceeceeceeceececececece
5) A trader profited L.E. 480 from certain goods with ratio of 12%.
Find the £ost price of the goods.

A A A AlA A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A~

A A A AVNA A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A~

A A s A A A A A A A A A A A A A A A A A A A A A A A A A A A AAA A A A A

Eé@peecéecceeecceeceecceceeecececeeceecceececececee
6) A shopkeeper of cars bought a car for L.E.45 000 then he spent

L«E.3000 for repairing it, then he sold it for L.E. 50 000.

Calculate the percentage of profit.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A AAAAAA AAAA A A A A A A A A A A A A A A A A A A A A A A~

ceeecececexcxceEcexEceeeeceeececeeeeeeeeeeeeceececc
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7) A fruit seller bought a load of fruit for L.E.18 000. After buying it , he
found a bad part of it because of miss-shopping. He sold the remainder
for L.E. 16 000Find the percentage of his loss.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ATA A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A Al A A~

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AdA ANA A A

EEéééééeécéceecceececececcecececcececeeceececeececeeecce
8) Find the buying price of goods sold for L.E. 21 520 and the
percentage of profit is 15%.
EEééEéeééctceccecceecccecececececeececprgeeanems

A A A A A A A A A A A A A A A A A A A A A A A A Al A AA A A A A A A A

>
>
>

A A A A A A A A A A A A A A A A A A A A A A A A AlA A A A A A A A A A

€éééeecececececececececececececeeceeceeceecpepeececeaeececeeececes
9) Heba bought an electric sweeping machine forL.E220. If the
discount is 15 %, calculate the original pricesof the sweeping machine.

A A A A A A A A A A A A A A A A AN AlA A oA A A A AN AN A A A A A A A A A

A A A A A A A A A A A A A A A A A A A ATAA A A A A A A A A A A A A A~ A~

A A A A A A A A A A A A A AdAa ALl A AVLA A AlA A A A A A A A A A A A A A~

EEEEEEEEecccecceceleeeececceeececececececceeceeecce
10) A school has 640 pupils , at the end of the year 15% of the
number failed find :
a- The number of pupils who.failed.
b- The number of pupifs who'Sueceeded.

A A A A A A A A A A A TA A A AlA A A A A A A A A A A A A A A A A A A A A
A A A A A A A AAA A A A A A A A A A A A A A A A A A A A A A A A A A~ A~

A Aln A lA A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A~

cegeeeeeeeeeeceeeeceeeeceeeceeeeceeeeeeeececec

11) A piece of cloth of length 10 m. was put in water and shrank by

4% of'its length. Find its length after shrinking.

Al A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

ceeeeceeeceeeeceeeeceeeeceeeceeeeeeeeeeececec
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Test 1§

1) Complete each of the following.

~

alf—=-, then x = &é.

b) If the length on drawing is 2 cm. and the real length is 6 metres, then

the drawing scale is €éEé.
c)—= €éé %
dlrf 5 (x+2) = 35, then X =,€E¢€.

e)If arunner covers 600 m. in 4 minutes, then the rate of distance

covered in one minudgde | s éé.

2) Choose the correct answer.
a) The height of a pupil is 120%€¢m. if its,length in the picture 12 cm ., then

A~ A~

the drawing “scale is é&é

(1:1000r1:100r1:10000r1:20)
b) In a football match, —from the audience were girls, then its
percentage = €\é « (8% or 10% or 40% or 16% )
c) Theratio 3;:5equalst he r ati o éé
(-:—or-:-o0or5:30r3:2)
Al A: B = 2: 3 and B: C = 12: 7,
(2:70r3:70r8:70r3:12)
e)35 % of €400 = & (70 or 105 or 140 or 175)

35

19%




3) (a) Rawan bought an electric device for L.E. 1995 after having a
discount 5 %. Find the original price of the device.

(b) ABC is a triangle in which the ratio AB: BC: AC = 4: 4: 5 if the
perimeter of the triangle = 39 cm. Find the lengths of its sides.

4)  (a) Amap is drawn with a scale 1: 500000Find the reahdiStance
between two cities in kilometers, given that the map distanceis 14 cm.

(b) A man died leaving 192 feddans of land to be distributeds@mong his
wife, two sons and three daughters. The share of'the wife is- of the

whole land and the share of the son is twicedhat of the daughter. Find
the share of wife and the share of each.of Somsand daughter.

36




Test 2

~—

1) Complete each of the following.

al. 75 metr e: 15 Othecsimplestforné . . . éé i
b)IfA:B=5:6andB:C=8:9,thenA:B:C=......éé.& .
c)35% + 50% + éé = 100%
d9 3+4 7620 5 = éé
e)The fourth proportional to the n
2) Choose the correct answer .
a)lf—8:—,thenX = é. .(1250r160r40o0r24)
b) If the length of diameter of a circle is 14 cm. and (e = — , then its
circumference = éé.
(44 cm. or 22¢€m. or 88em. or —cm.)
colf 8, x, 4 and 5 @re patoportiona
(10 or 6 or 12 Jor 16)
d)If3(x+2)=15,thenx= é é & @ 8 or 6-or 4)
e)l f 35% of a number s 140, t hen

(7@ er 210 or 400 or 330)

3) (a) Find the result of£:35» 565+ 3 4.

(b) A shopkeeper sellsthome utensils. He bought a fridge for L.E
1176. Find the percentage of his profit.

4) (a)if = (x+ 40) = 25, then find the value of X

(b) A madel for a football playground is drawn with a drawing
scalé 1: 500 the dimensions of the playground in the model are
2 cm. and 4 cm.Find:
(1)_The real dimensions of the playground.
(2).The area of this playground in square meters.
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Unit Three

The relations between the geometrical J

A parallelogram : is a quadrilateral in which each two opposite sides

are parallel

Properties of the parallelogram

A Each two opposite sides are equal in length
A Each two opposite angles are equal in measure

A The sum of measures of each two consegtitive angles is 180
A The two diagonals bisect each othér.

The rectangle : is a parallelogram with a right angle

Properties of the rectanglé =

AThe four angles of the rectangleare all equal in measure of each is90A
AThe two diagon@ls of the'rectangle are equal in length

ThHe rhombus.«1S a parallelogram in which two adjacent sides are
equal in length. L

Propetties of the rhombus ‘

A The four sides of the rhombus are equal in length.
A The two diagonals of the rhombus are perpendicular

38




The square :is a parallelogram with a right angle and two adjacent
sides are equal in length.

Properties of the square

A The four sides of the square are equal in length.

A The four angles of the square are equal in measure and the
of each is 90A

A The two diagonals of the square are equal in length a
perpendicular.

39




SeCtion 1 ‘ Complete each of the following.

a)The four sides are equ a | i n |l ength mnoh eae.

b) The two diagonals are equal in lengthineachof...&€ a‘@d g .

c)The two diagonals are perpendic

d)The four angels are rfli ghtr in
elThe opposite angelsygal e eq@.uae
,andé éé é é

N The two diagonal's biseéé. ec&En

A A ~ ~ ~ A ~ ~ ~ e ~

~Ar A A A ~ ~ ~

- ~ ~n ~ ~n A

1)In the ‘opposite figure :

ABCD s a parallelogram
Findem (" D), m{ BAC) and
md ACD) C B
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LESSON
3-2

‘seCtion 1 J Complete each of the following. J

aThenumber of edges of the S
b)The number of vertice 0 e Ccube
c)Thecube has ééé. .faces ahdfabey

equal I n €éé.
OThe cuboid haséé®e

opposite faces [ ar ea.

ggThe heig
h)The volume of . and its height is 5 cm, then its

base = é

ar ecm.

é
)The vol oid is 3000 cm and its base area is 300 cm, then

it ht =éééé. . cm.
)A cuboaid of dimensions 50cm, 80 cm and 1 meter, its volume
—€ééé..cm.

k)The volume of a cuboid =120 cm and area of its base =24 cm, then

A~

Il'ts height =&&é&. cm.
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Section 2 Word problems

1)The dimension of a cuboid's base is 25 cm and 20 cm, and the
height is 12 cm.
Find a) The area of its base.

b) The volume of the cuboids.

A oA A oA A A A ~ A A A A A A A A A A oA A A A A A AL A A Al A A A A A oA
~ ~ A A ~ ~ ~ ~ A oA ~ ~ ~ A oA ~ ~ ~ ~ A A A ~ A A A A A ~ ~ A oA A oA

~ ~ A A ~ ~ ~ ~ A ~ ~ A ~ A oA ~ ~ ~ ~ A A AnA A A ~ A ~ A ~ A oA A oA

EEéééééeeeececceceecececececpeereceecececeecece
EEéEéEéEéeeeécéecceeecececectceeeerecreercece
2)The sum of cuboid's edges i e

width is 6 cm, then

find th e volume of that cuboid .

A A A A A A A A A A A A A A A A A A AN A A AN A A A A A A A A A A AN

n
~N
N

@)

3

.

~—+

>

A A A A A A A ~ A A A A Al AA A AN A A A A A A A oA A A AN A oA A oA
~ ~ A oA ~ ~ ~ ~ A ~ ~ A ~ Al A ~ Al A A A oA ~ ~ ~ ~ ~ ~ ~ A ~ A oA A oA

eeeeeeceeeeeeeceeeeceeeeeeceeeeeeeeeeeeec

~ ~ A oA ~

e ceeceeeecpeecece

3)3600 cubic centimeters of'water are poured in a cuboid dshaped
vessel, with a square _shapedbase of side length 20 cm.
Find the height efawater in the vessel.

A A A A A A~ A A A A A A A A A A A A A A A A A A A A A A A A A A A~

A A A Al A AA A A A A A A A oA A oA A A A A A A A A oA ~ A A A A oA A A
~ A A oA A AT A A A oA ~ ~ ~ A oA ~ ~ ~ A A oA A ~ ~ A oA ~ ~ ~ ~ A oA A oA

A A AL A A A A A A A A A A A AN A A A A A A A A A A AAA A A A A

eeeceeeceeceeceeceeceeeEeeeCeeeceeeeceeeeeeeecec

4) A cuboid-shaped aquarium is 6.5 dm. bng, 30 cm. wide and 24
cm. height. Find the capacity in litres when it is completely full of
water.

A A A A A oA ~ ~ A A ~ A oA A A A oA A oA A oA A A ~ A oA ~ ~ A oA A A A A

A A A A A oA ~ ~ A oA ~ A oA A oA A A A A A oA A oA ~ A oA ~ ~ A oA A A A oA

A A A oA A A ~ ~ A oA ~ A A A oA A oA A A A oA A oA ~ A oA ~ ~ A A A oA A oA

ceeeeeeeeeeeeeeeceeeeeeeeeeeeeeeeeeeec
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5)72 litres of molasses are needed to be put in 25 tins of the same
kind, each has a rectangularshaped base with dimensions 18 cm.
and 10 cm. And the height of the molasses in each tin.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AN A A A A

~ ~ A A ~ ~ ~ ~ A A ~ A A A oA ~ ~ ~ ~ A A A ~ ~ A oA ~ ~ A A A A A A
A A A A A A A ~ A A A A A A A A A A A A A A A A A A ~ A A A A A A

~ ~ A A ~ ~ ~ ~ A A ~ A A A oA ~ ~ ~ ~ A oA A ~ ~ A A ~ ~ A A A A A oA

e e
Eéééééceeceececceceececeececcececeeeecpcpeece
6)The inner dimensions of a cuboid-shaped box are 30em., 20cm:.
and 15cm. It is needed to fill it with cuboid -shaped bars of'soap
with dimensions 6¢cm, 5cm. and 3cm.

Hnd the greatest number of soap bars that can be put inthe box.

~ ~ A oA ~ ~ ~ ~ A ~ ~ A ~ A oA ~ ~ ~ ~ A oA ~ Al A A ~ ~ ~ A ~ A oA A oA

EEEEEEEEEEceecececetebctbecepcececececececeeceecece
EEEEEEEEEEEEeeeeet b et e e ececeebetbececeee
7)A box in the shape of cuboid'ef dimensions 30 cm, 40 cm and 50

cm. If it filled with cubic piéces of sweets of side length 5 cm, find

the number of the pieces ohsweets.

A A A A A A A A AN A A A A AVNA A A A A A A A A A A A A A A A A A A A

~ A A oA A A~ ~ A Al A A A Al ~ ~ ~ A A oA A ~ ~ A oA ~ ~ A oA A oA A oA

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

EEEEEgfceeeccecececeecececececececececececeeceecece
€EEéeceececécccecerrrerecececeeececececece
8)Acuboid of'volume 2128 cma3. Its length is 19 cm. and its height

is 14 cm.Eind the area of its base and its width.

~ A AdlA A A~ ~ A~ A oA ~ A A A oA ~ ~ ~ A A oA A ~ ~ A oA ~ ~ A oA A oA A oA

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~

A A A A A oA ~ ~ A A ~ A oA A A A oA A A A oA A A ~ A oA ~ ~ A A A A A A

A A A A A oA ~ ~ A oA ~ A oA A oA A A A A A oA A oA ~ A oA ~ ~ A oA A A A oA

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

ceeceececeeceeeeeeceeeeceeeceeeeeeeeeeeeecece
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9)A box made of cartoon in the shape of cuboid. Its internal
dimensions are 50 , 40 , and 30 cm.

How many blocks of soap can be put inside it to be full completely

if the dimensions of each block of soap are 8, 5 and 3 cm.

A A A A A A A ~ A A A A A A A A A A A A oA A A A A A ~ A A A A A A oA
~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ A s s s A A A Py A ~ ~ ~ ~ A ~ ~ ~

A A A A A A A A A A A A A A A A A A A A A A A AaAn A AN A A A A~

ceeeeeeeeeeeeeeeceeceeeeeeeeceeeeeeceeeeeece

A A A

ééeéeeéee

(N
D
D
D
D
D
D
D
Q)
Q)
Q)
D
8>
B
>

10)A building worker used 1500 bricks to build a'wall. Calculate

the volume of the wall in m ° if the brick§ in the shape of a cuboid

whose dimensions 25, 12 and 6¢cm.

~ ~ A oA ~ ~ ~ ~ A ~ ~ A ~ A A ~ A AL A A oA ~ ~ ~ ~ ~ ~ ~ A ~ A oA A oA
A A A A A A A ~ A A A A A A A A A A A A A A A A A oA A A AN A oA A oA

~ A A oA A A~ ~ A~ A allAa A A A A ~ ~ ~ A A oA A ~ ~ A A ~ ~ ~ ~ A oA A oA

Eéééééeeeflbleecececececcececeeceeceeceecececeecece
EEéééééeepbeelceecececeeee
11)8400 em*of water is poured into a vessel in the shape of a

cuboid with,internal di mensions 20, 35 and 45 cm.And

1. Theheight of water in the vessel.

2. The volume of the water needed to be added for the vessel to

be completely filled.

A A A A A oA ~ ~ A A ~ A oA A A A oA A A A oA A A ~ A oA ~ ~ A A A A A A

A A A A A oA ~ ~ A oA ~ A oA A oA A A A A A oA A oA ~ A oA ~ ~ A oA A A A oA

ceeeeeeeeeeeeeeeceeeeeeeeeeeeeeeeeeceece
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LESSON

3 3 The volume of cube J

SeCtion 1 ‘ Complete each of the following.

a)7600cm’. = & diters. é
b) The volume of a cube in which the perimeter of one ofits faces is
c) If the sum of the lengths of the edges of a cube Is

48 cm. then its total “2surface area
d) The lateral area of cuboid is 140 cm2. and its base dimensions are

2cm, 5cm,then itsv hetght i s é&é&éeécm.
e) The sum of the dimensions ofia caboeid is 60°cm. and the ratio

between themis2:5:8t hen it volume is ééééeéc

SeCtiOH 2 Choose the correct answer.

a) The number ofi,cubes with edge 5cm. long , that can fill a cuboid-
shaped bex Wi th inner di mensions 4 d
( 24000 04800, 0260 )
b) AAscuboid with inner dimensions 2.5m., 160 cm. , and 1.4dm. , then
itscapacity 1 9560 é é680 or 560000¢ s .
c) If a cuboid-shaped vessel'scapacity = one litre and its base areais
200cm®. , then its(lheiS5pht).= éécm.
d) The lateral area of a cuboid whose base is of perimeter 96 cm. and
i s height is 15 cm. = éééééeé

(1440 cm. or 1440 cnf or 1440 cm® or 72 cm?)

45




Section 3 Word problems

1)Find the volume of a cube of an edge length 4 cm.

A A A A A A A A A AN AN A A A A A A A A A A A A A A A A A A A A A A~ AT

A A A A A A A AAAAAA A A A A A A A A A A A A A A A A A A A A ATA A A A A

e ccecececececeeceeceececeecececececeeceeceeepepacece
2)Which is greater in volume?

a cuboid with dimensions 6cm. , 8cm. and10 cm. or a cube’ef edge

A A A A A A A A A A A A A A A A A A A A A A A A A A AA A A A A A A A
A A A A A A A A A A A A A A A A A A A A A AlfA R AlA A AN A A A A A A A

A A A A A A A A A A A A A A A A A A A A AA A A AN AlA A A A A A A A A~

EEéEéEéééeécéeeececeeecececeeceeceeeececeecececeece
3)The sum of edges of a cube is 132cm. Calculate its.volume.

A A A A A A A A A A A A A A A A A A AfdA A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ArMmA A A A

A A A A A A A A A A A A A A~ Al A A A A A A A A A A A A A A A A A A~ A~

EEEEEEEEEceccececkceececececeeeeeeeceeceeeececce
4)A metallic cube of edge length'9 em. itis'wanted to be melted and

convert it into ingots in the _shape, of cuboids each of them has the

dimensions 3, 3 and 1 cm.

Calculate the numbef of Ingots that are obtained.

A A A A A A A A A lA A A AL AA A A A A A A A A A A A A A A A A A A A A A~

Eééééelecclecceeceecececececeeceeececeececeeeeceeece
5)The edge of a cube made of clay is 12 cm. long. The cube was cut

into 'small cubes of edges 3 cm. long each.

Find the number of the small cubes.

AlA A A A A A A A A A A A A A A A A AAANNANDAANNAANNANAANAANAN A A A A A AAAN A AN

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

ceeeeceeeceeeeceeeeceeeeceeeeceeeeeeeeeeeececec
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6)A tin in the shape of a cube's internal edge length is 36 cm; it is filled
with maize oil. It is wanted to be put in the small tins in the shape of
cubes itsinternal edge length is 9 cm. Hnd the number of small tins.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A ATA A

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A Al A A~

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AN AN A A

EEéEéEéeéctcececectecececeecececceceeceeccececeecemeecce
7)A cube of metal's edge length equals 12 cm. needed to be melted

down and converted into alloys in the form of a cuboid with
dimensions 3cm, 4 cm, and 6 cm.

Calculate the number of alloys that can be obtained.

A A A A A A A A A A A A A A A A A A A A A AlA A A A A A A A A A A A A A
A A A A A A A A A A A A A A A A A A A N A A A A A A A A A A A A A A A A~

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A~

eeeeeeeeceeceeceeceeeeceeceeeeeeeeeeeeeeecece

8)A cuboid the perimeter of itsddase equals 36 cm and the ratio
between the length and th e width'ofits base equals 3:2
Calculate its volume if the height of it equals 12 cm.

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

eeeeeeeeceeececeeeeceeeeeeeeeceeeeeceeeeeeeeceece

EEéééeéetcéecéegececepccecececececcugpnns

A A A A A A A ADA A AN NN oA A A A A A A A A A A A A A A A A A A A A A A~ 1

A A A A A A AL A SATAA AN AR A A A A A A A A A A A A A A A A A A A A A A A A T

EEEEEEeee@rerccceececceceeceeceeceececececeececececeeceecd
9)A swimming peokinthe shape of a cuboid whose internal dimensions
are 40m, 30m, 1.8m.Find its capacity in litres.

A A A ALA A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A~ A~

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A AL A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

eeeeeeeeceeeeeeeeeeeeeeeeeeeeeeeeeeceece

10)A box of milk of capacity 2 litres. Another box of capacity 200
milliliters. How many boxes of the second kind are needed to be filled
with the milk of the first box completely?

A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

A A A A A A A A A A A A A A A A A A A A A A A A s o s s s s s S

ceeeeceeeceeeeceeeeceeeeceececeeeeceeceeeee
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Unit Four

SECtion 1 Complete each of the following.

A A A A A dn

1) The kinds of statié&éécsLeéekB@® are ééeécéeée

A A A A A A A A

2YThe birth pl acéé &dntaééééééeé

4 The rang@éféé &&& ééceéceece

5) The difference between the minimum and the maximum values of the given data is
called ééééécéeé

6) The range of the values:6,3,10,7 , 7 , 5 i s “ééeeeé

7) If the marks of 4 students in one of the tests is 27 , 134,22 and 30the range for these
mar ks is éééée

8) If the value of a frequency distribution lie s between ( 5_85) the range of this

di stribution = éééeée

9) If the value of a frequency distribution lie between (20 , 59 ), the range of this

di stribution = £&eééeeeé

10) Centre of the set = ééééééeéeeé

11) If 63 is the greatest individual of a'set.and the range = 20, the smallest individual of

this set &= "éeéeeé

12 The bl ocoad type i s Eééééeeeéeeeée dat a.

13) The A ength 1 s ééééééeé.. dat a.

14)°T h.e di fference between the greatest value a

151 f tthe values of a frequency distribution 1

48




SeCtian 2 Choose the correct answer.

1) Therange of thevalues: 93, 5, 8, 7, 2 i s é&=eéelee
as , 7, 13 , 20)

2) The foll owing data are descuti'ptd ve
(Favorite color, birth place, blood species, age)

3) If the value of a frequency distribution lie s between (30 and 90),then

the range of this distribution € éé
(70 , 60, 40 , 50)
4 The foll owing data are quantitive e

(age, weightg Mationality , tallness )

Answer the following guestions.

J — —

| Section 3

a. The following table shows the number of hours which the pupils of a
class spenddaily infront'of the computer.

Number of hours 1- 2- 3- 4- 5- 6- Total

Number of pupils 4 12 € éé 10 6 2 48

1-  Complete the table.
2- “Represent these data by frequency table.
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